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ENGLISH VERSION

Instructions : (1) Q. No. 1 is MCQ.

(2) Q. No. 2 to 5 are descriptive type questions.
(3) All question is a compulsory.

1 State the correct answer from the given options : 20

ey

)

3)

4)

()

©6)

Laspayer's index number is denoted as

@A I ®) Ip

© Iy O Ip_p
If f(x):x3,then fx)=__ .

A) 3x ) 3x2
€ 3 D 0

If f(x):x2 then f'(x)=__ .

A) 2x2 ®B) 2

€ 2« O 0
. x2 -9

lim =

x=2 x-3 =

(A) 6 B 7

C) 8 D 5

A variable based on time factor is called
(A) Constant

(B) Continuous variable

(C) Time series variable

(D) Dascrete variable

A matrix, which has equal nos. of row and columns is
called
(A) Equal matrix (B) Square matrix
(C) Identity matrix (D) None of these
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(7)  The method of moving average is based on the principle

of
(A) Average (B) Daispersion
(C) Skewness (D) None of these

(8) A matrix with only one row is callled
(A) Column matrix (B) Row matrix
(C) Identity matrix (D) Zero matrix

index number

© 7, means

(A) Laspayer's (B) Fisher's
(C) Pasche's (D) None of these

(10) I,_p means index number.

(A) Pasche's (B) Fisher's

(C) Laspayer's (D) Dorbish - Bowley's
(11) If 4— 4 then A is said to be matrix.

(A) Symmetric (B) Skew-symmetric

(C) Identity (D) Zero

12) If A4 = 47 4= 1, then 47" is called inverse matrix.
True or false ?
(A) False B) True
(C) Can't say (D) None of these

(13) I, means index number

(A) Laspayer's (B) Pasche's

(C) Fisher's (D) None of these
(14) If —4x” +6x+8, then ﬂz

y - ] dx - .

(A) 8x+6 ®) 8% +6

©) 8x+6x D) 8x
(15) If 4=-4', then A4 1is called matrix.

(A) Symmetric (B) Square

(C) Skew-symmetric (D) Identity
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(16) The adjoint matrix can be denoted as

A—l

adj. A

IL><IP

None of these

1
E(IL”P)

None of these

None of these

@ ®)
© |4 )
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1
© S x1p) ®)
12
(19) If AZ& 4] then adj. A=
13
@ |, 4} ®)
4 2
© |5 1} ®)

2 3
(20) If A=L 5] then |4|=

A) -2
€) 4

Answer any one question :

®)
D)

2
-4

10

(1) Define the meaning and analysis of time series data.

(2) The addition and substraction of two matrix, explain

with 1llustrations.
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Answer any one question : 10
(1) Explain the components of time series data.

(2) Define and explain the limit and differentiation of the
function, with formulas.

Calculate any two examples : 16
1 1 2
(1 If A4=|2 2 1|  then obtain AP AT
1 2 1
¥ -4
(2) Using definition of limit find the value of lim )
x—=2 x—2

@) If f(x)= ©, then using the definition of differentiation,

find value of f'(x).

Answer any one question : 14

(1) From the given data, obtain the value of /;,/, and /.

Commo- Base Year Current Year
dities Price |Quantity | Price [Quantity
A 6 4 8 4
B 8 10 12 8
C 10 8 14 6
D 14 6 18 4
E 18 12 20 10

(2) From the given time series data, obtain the value of
fluctuations and trends, that occurs in a time series,
using three year's moving average method :

Year (1988 1989 | 1990 | 1991 | 1992 | 1993 [ 1994 | 1995] 1996 | 1997 | 1998

Price| 10 | 12 |2 [ [ 10 |18 M4 [ 6] 26| 10| 12
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